Write an equation that matches
this bar model.
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Write an equation that matches
this model.
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What number is missing from this

ratio table?
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If | do 6 jumps of 3, where

would | land®@
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What does this array show?
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(Snrzoms)

Write an equation that matches
this model.




3x5=15 candles

Fill in the missing numbers on the

number line.
2x4 3x4 5x4
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How many groups of 4 are in
this array?




Name

Start at any card. Solve the problem and write it down in the coordinating
box. Then look around the classroom to find the next card that has that
answer. Solve the next problem and keep going!
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